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£(x) = M}) f(x+hh)—f(x)
A = P(l+ ni)
A = F’(l—#i)n

d = (% = x)2+ (Y, = Y,)?

Yy =mXxX+¢C
m:yz_yl
X, = X

(x—a)* +(y —=b)* = r?
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d - nn+1
= 2

S, :%[2a+(n — 1)d]

Sw:i;—1<r<1
1-r

A = P(1-ni)
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In AABC: a _ b _ ¢
SsinA  sinB sinC
a® = b®> +c® —2bc.cosA
1 .
area AABC = Eab.smC
sin(a + f) = sina.cosf + cosa.sinf sin(a — ) = sina.cosf — cosa.sinfg
cos(a + f) = cosa.cosf — sina.sin g cos(a — ) = cosa.cos f + sina.sinfg
cos’a — sin“«a
cos2a =41-2sin"«a sin2a = 2sina.cosa
2cos’a —1
d 7\
J— fX 2 |§1()(i X)
X == c° =
n n
n(A)
P(A):E P(AorB) =P(A)+P(B)-P(Aand B)
j—a+ bx p = 20X - ¥)
2 (X =X)
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